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567686 9: ;9; < =>=?@ABC D A=?
vBx = vBz = 0 E
vBy = [−180,−179,−178,−177] E
A(4, 0, 2) # B(0, 0, 3) # C(1, 5, 1) # D(2, 1, 0) #

567686 9: ;F ; < GH G?@A IJ GK=?
vBx = vBy = 0 E
vBz = [−32,−31,−30,−29] E
A(4, 0, 1) # B(0, 0, 3) # C(0, 2, 2) # D(2, 2, 0) #

567686 9: ;L ; M @?B NH=OH G?
vBy = vBz = 0 E
vBx = [−176,−175,−174,−173] E
A(4, 0, 2) # B(0, 0, 2) # C(1, 4, 1) # D(3, 1, 0) #

567686 9: ;P ; Q=R =STB? N =H GU BV
vBy = vBz = 0 E
vBx = [−32,−31,−30,−29] E
A(2, 0, 2) # B(0, 0, 1) # C(2, 4, 3) # D(3, 4, 0) #

567686 9: ;W ; X @Y@Z@U @A [H GTYGV
vBx = vBz = 0 E
vBy = [−50,−49,−48,−47] E
A(1, 0, 1) # B(0, 0, 2) # C(0, 5, 2) # D(2, 1, 0) #

567686 9: ;\ ; ] =H^SGA DH_`
vBx = vBy = 0 E
vBz = [−24,−23,−22,−21] E
A(3, 0, 2) # B(0, 0, 1) # C(3, 4, 4) # D(2, 2, 0) #

567686 9: ;a; ] @U OB? [?J@?
vBx = vBy = 0 E
vBz = [22, 23, 24, 25] E
A(1, 0, 4) # B(0, 0, 2) # C(3, 2, 1) # D(2, 5, 0) #

567686 9: ;b ; c @YG?T@ [H GTYGV
vBy = vBz = 0 E
vBx = [112, 113, 114, 115] E
A(4, 0, 2) # B(0, 0, 1) # C(3, 4, 3) # D(2, 5, 0) #

567686 9: ;: ; d =>@R @A= IAGJH=?=
vBy = vBz = 0 E
vBx = [−120,−119,−118,−117] E
A(4, 0, 3) # B(0, 0, 3) # C(1, 5, 1) # D(2, 4, 0) #

567686 9: ;9e ; f GV>=?@A ghOABZ
vBy = vBz = 0 E
vBx = [12, 13, 14, 15] E
A(3, 0, 4) # B(0, 0, 1) # C(2, 2, 3) # D(3, 4, 0) #

567686 9: ;99; IJU iCT@A jU BV
vBy = vBz = 0 E
vBx = [−40,−39,−38,−37] E
A(1, 0, 2) # B(0, 0, 3) # C(2, 4, 3) # D(3, 1, 0) #

567686 9: ;9F ; kBR @lGGA= k=J_`?=
vBx = vBz = 0 E
vBy = [−200,−199,−198,−197] E
A(4, 0, 4) # B(0, 0, 3) # C(0, 5, 4) # D(2, 5, 0) #



567686 9: ;9L ; mC=GA f@R =?
vBx = vBz = 0 E
vBy = [−8,−7,−6,−5] E
A(1, 0, 1) # B(0, 0, 4) # C(2, 4, 3) # D(3, 5, 0) #

567686 9: ;9P ; n GYJ=T@A NBTJ@U
vBx = vBy = 0 E
vBz = [4, 5, 6, 7] E
A(1, 0, 4) # B(0, 0, 1) # C(3, 2, 4) # D(2, 2, 0) #

567686 9: ;9W ; d =>@R @A N o
vBy = vBz = 0 E
vBx = [−208,−207,−206,−205] E
A(4, 0, 1) # B(0, 0, 4) # C(3, 4, 2) # D(4, 1, 0) #

567686 9: ;9\ ; M =ZB`?@A p
vBy = vBz = 0 E
vBx = [−16,−15,−14,−13] E
A(2, 0, 3) # B(0, 0, 4) # C(2, 4, 4) # D(3, 5, 0) #

567686 9: ;9a; qU ri?@A
vBx = vBz = 0 E
vBy = [−18,−17,−16,−15] E
A(2, 0, 3) # B(0, 0, 1) # C(0, 3, 2) # D(1, 4, 0) #

567686 9: ;9b ; s tu vutw
vBx = vBy = 0 E
vBz = [−8,−7,−6,−5] E
A(1, 0, 1) # B(0, 0, 2) # C(2, 4, 2) # D(3, 5, 0) #

567686 9: ;9: ; [UR =?Oi xo
vBx = vBy = 0 E
vBz = [24, 25, 26, 27] E
A(2, 0, 4) # B(0, 0, 1) # C(2, 2, 2) # D(1, 4, 0) #

567686 9: ;Fe ; Ii?_ yr`Yh=?_
vBx = vBz = 0 E
vBy = [−40,−39,−38,−37] E
A(2, 0, 2) # B(0, 0, 2) # C(3, 4, 4) # D(2, 1, 0) #


